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Although the wave function penetrates into the barrier, it is eventually all reflected.
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CHAPTER 2. THE TIME-INDEPENDENT SCHRODINGER EQUATION 39

From the diagram, T' = P;/P; = |F|*v,/|A|*v;, where P is the probability of finding the incident particle

] ~in the box corresponding to the time interval dt, and P, is the probability of finding the transmitted

particle in the associated box to the right of the barrier.
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Problem 2.45

dQIf)l h2 d 1})1
Vi = Efy = ——1 Vi, = EY
C2m da? V=B om VP V192 h? d*y d*
> -0 [0Sl —ul
ﬁ‘ d2¢’2 v B 2 l,[;‘ y , 5 2m dr
- # — f = 1 5
o g2 T V=B —r—— + Vi V14
But _d_ d% _ dl.f)z _ din dlm b dz'ff)l _dpdyy d?1, . > d*y
dx Vdr dz dz VP dz? dr dr "V da? 2 dr Yl
dy-
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